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1. Determine whether the following series converge or diverge. Justify your answers.
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(e) For what values of = does the series Z " converge? For these values of z, find the sum
n=0

of the series (as a function of z).



n

. o _
2. Consider the sequence {a,}yoq, an = SRR

(a) Does the sequence {a,} converge? If so, find its limit. Show all work and explain your answer.

(b) Does the sequence {(—1)"a,} converge? If so, find its limit. Explain your answer.
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(continued) We are working with the sequence {a,}2%, a, = SR
n

(c) Is the sequence {a,} increasing, decreasing, or not monotonic? Justify your answer. (For full
credit, carefully compare a,, and ap41.)

(d) Does the series Y 2 | (—1)"a, converge? Justify your answer.



3. (a) For the function f(z) = In(1 — 3z), find the Taylor series centered at 0.

(b) Find the interval of convergence of the series you found in (a).
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(c) For the function g(z) = y/z, find the first 5 terms of the Taylor series centered at 1.
(If your answer includes expressions such as 5% or 4!, leave them in this form; do not compute.)



4. Use series to answer the following questions.
(a) Estimate cos(0.1) correct to 3 decimal places. Explain how you know that your 3 decimal places
are guaranteed to be correct.

)
cos2x — e~ 4 g2

b) Compute lim
(b) pute 1o x3sinx
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(¢) For the initial value problem y' = zy + 1, y(0) = 2, find solution of the form
y(z) = co + crw + cox? + 03:133 + cqxt + 051‘5 + ...

Give the first 5 terms of the series only; you do not have to find other coefficients or describe a
pattern.



5. Solve the following differential equations.

(a) Solve the equation ' = (2 +t+ 1)(y + 1).

(b) Solve the initial value problem 3/ = ze 2, y(1) = 2.
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(c) Solve the initial value problem y” — 6y’ + QJ: 0, y(0) =1, ¥/(0) = 2.

Now, check (by differentiation) that your solution indeed satisfies the equation.
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(d) Solve the equation 2y” + 2y +3: 0.
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6. In this question, you will use the direction field approach to study the equation
y =zy—x+1.

Do not solve this equation.
(a) Sketch the direction field along the z-axis, along the y-axis, and at points (1, 2), (—2,1), (-1, 3).
Use the grid below. Please label the axes and all relevant points.

(b) Consider the solution y(z) of the initial value problem ¢y = zy —x + 1, y(2) = 0. For the values
x that are close to 2, is this solution increasing or decreasing? Explain your answer.
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(c¢) The pictures below show graphs of three functions; one of them is a solution of the equation
y = xy — x + 1, the other two are not. Which picture shows the solution? Explain carefully why
the functions in the other two pictures cannot be solutions of the given equation.

y y y

N | l.
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(d) Use the Euler method with step size h = 1 to estimate y(3), where y(z) is the solution of initial
value problem ¢/ = xy—x+1, y(0) = —1. The Euler method gives an approximation of the solution
on the interval [0, 3]; sketch the graph of this approximation on the grid below. Please label the
axes and all relevant points; show all work.
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7. This is a question about radioactive decay.

For your convenience, a few values and properties of logarithms are included at the bottom of the
page (some will be useful, some are completely irrelevant). Properties of the exponential and log
functions are also useful when you need to evaluate certain logarithms.

At 12:00pm, you get a sample of a rare radioactive element calculium-127. The mass of the sample
is 100mg. One hour later, the mass of the sample is reduced by 80% (so that only 20% of the mass

remains).
(a) Write the differential equation describing the decay of calculium-127; find all the necessary

parameters.

(b) Find a formula for the mass that remains after ¢ hours.

(c) At what time was the mass of the sample 25 times greater than its mass at 12:00pm?

In5~1.6 In20 ~ 3 In0.8 =~ —0.22 log, 0.25 = —2
In(ab) =Ina+1Inb ene =g



